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MATH 65B - Spring 2018
Groupwork 4: February 8, 2018
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Please, show all work.




2. Determine if the the integral is convergent or divergent. If it is convergent, compute the

integral. .
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3. Determine if the the integral is convergent or divergent. If it is convergent, compute the

integral. )
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Please, show all work.



4. Determine if the the integral is convergent or divergent.
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5. Determine if the the integral is convergent or divergent. If it is convergent, compute the -

integral. |
, ' \ (D(v\ 0\‘/ ::;LK/O 22 1ln (z) dzx I\W‘(’Cf)(wk L‘\/TZA:‘
piis " AU\ /{)#V E 3

W

‘l [ .
S X_JJM(AJ-;(: )‘Wbﬁ 3 fn () dx
: £>0 3

Please, show all work.






